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2,175 | 870 | 0.4
( W=12m,L=411m H16 H20 H16 H20 770 770 770 770
() W=16m,L=804m H16 H20 H16 H20 676 676 676 676
() W=12m,L=250m H16 H19 H16 H19 200 200 200 200
14 W=6m,L=244.5m H16 H17 H16 H17 80 80 80 80
W=4m,L=174m H16 H17 H16 H17 97 97 97 97
() W=12m,L=100m H16 H20 H16 H20 108 108 108 108
A=3.65ha H17 H20 H17 H20 70 70 70 70
A=0.25ha H16 H16 H16 H16 14 14 14 14
A=19 H20 H20 H20 H20 10 10 10 10
A=560 H16 H20 H16 H20 91 91 91 91
2,116 2,116 2,116 2,116]...
A=540 H16 H20 H16 H20 59 59 59 59|
0
0
0
0
0
0
59 59 59 59]..
2,175
o

59ha o H14 H18 1,391

L=540 o H13 H19 1,881

L 700 o H13 H19 847

97ha o H16 H22 1,840

17.5ha o
54 L=4,100 o H13 H20
5,959






